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currents v'1

i1) To reduce energy loss due to hysteresis
v'1(during magnetization and
demagnetization of the core)

Alt 1
d) Cost = number of units x cost / unit v'1
=3000x30x60x30x7v1
1000 x 60 x 60 x 1

=sh.315.00 v'1
Alt 2
cost = no units x cost / unit
=3x30x7x30
60
=sh.315.00

17. a) Q - cooling fins v'1
R - cathode ray beam v'1

b) i) The intensity of X-rays is increased v'1
since the number of electrons emitted
increases with temperature v'1

ii) - harder X-rays are produced v'1
higher e h.t increases the speed (or K.E)
of electrons v'1 and hence X-rays of
higher energy are produced

¢) - tungsten v'1
- tungsten has a high melting point v'1

d) Voltage = Y-gain x number of division/cm

=50x3.5v1
=175V v'1
18. 1) ammeter reading
= voltage
resistance
1=V whereR.=2.75+R;
Re =275+0.8
=12 =355v1
3.55 v1
=3380Av1 1=1+1+1
R, 4 2 2
=35
4
R; =038
ii) V=IR
=275x338 V1
=9296V v'1
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